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QUESTION 1

In systems with AMD processors, what allows communication between processors and the I/O subsystem? 

A. Northbridge 

B. Southbridge 

C. HyperTransport link 

D. APIC 

E. QuickPath Interconnect 

Correct Answer: C 

{\rtf1\ansi\ansicpg936\deff0\deflang1033\deflangfe2052{\fonttbl{\f0\fnil\fcharset0 MS Shell Dlg 2;}}
\viewkind4\uc1\pard\lang2052\f0\fs17 Industry Standard Architecture - Student Guide 1 - Page 37\par AMD processors
are able to communicate with each other through HyperTransport point-to-point links. This enables one processor to
access the memory connected to another processor. Inside the processor, a crossbar switch connects the processor,
memory controller, and HyperTransport links.\par AMD processors also use HyperTransport links to connect to the I/O
subsystem.\par The links on particular processors are connected to I/O tunnels that support the I/O devices.\par All
other processors can communicate with the I/O system through the HyperTransport links.\par Legacy devices are also
connected to one of the I/O tunnels.\par } 

 

QUESTION 2

If the GFS backup tape rotation plan, how often is the Grandfather backup performed? 

A. daily 

B. weekly 

C. monthly 

D. quarterly 

Correct Answer: C 

{\rtf1\ansi\ansicpg936\deff0\deflang1033\deflangfe2052{\fonttbl{\f0\fnil\fcharset0 MS Shell Dlg 2;}}
\viewkind4\uc1\pard\lang2052\f0\fs17 Industry Standard Architecture - Student Guide 2 - Page 302:\par GFS backup
requires the following:\par Monthly grandfathers\par Weekly fathers\par Daily sons\par } 

 

QUESTION 3

Which statements are correct about mixing drives with different sizes and speeds within an array? (Select two) 

A. Performance may be degraded. 

B. Performance of the fastest disk is provided. 
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C. Capacity is wasted. 

D. There is no impact on the capacity usage of each disk. 

E. Usage of hot spare disks is not necessary. 

Correct Answer: AC 

{\rtf1\ansi\ansicpg936\deff0\deflang1033\deflangfe2052{\fonttbl{\f0\fnil\fcharset0 MS Shell Dlg 2;}}
\viewkind4\uc1\pard\lang2052\f0\fs17 Industry Standard Architecture - Student Guide 1 - Page 247\par It is possible to
mix drives with different sizes, speeds, and SCSI protocols in an array. This configuration can result in wasted space
and degraded performance, but it will work.\par } 

 

QUESTION 4

Your server is running Windows 2003 and you are experiencing network performance issues. What can you do to
determine if the bottleneck is the network card? 

A. Replace the NVRAM on the network card. 

B. If the server contains multiple network cards, remove all but one card. 

C. Run the system monitor applet to monitor the network throughput. 

D. Add NVRAM to the network card. 

Correct Answer: C 

 

QUESTION 5

You are implementing a tape backup solution on a customer\\'s site. The customer\\'s servers are located in two
different fire compartments 10m apart. Which SCSI standard can be used at the lowest cost for this environment to
integrate a tape library in a different fire compartment? 

A. Ultra 

B. Fast 

C. LVD 

D. Fibre Channel 

Correct Answer: C 

{\rtf1\ansi\ansicpg936\deff0\deflang1033\deflangfe2052{\fonttbl{\f0\fnil\fcharset0 MS Shell Dlg 2;}}
\viewkind4\uc1\pard\lang2052\f0\fs17 Industry Standard Architecture - Student Guide 1 - Page 213:\par Cables\par The
type of SCSI cable used depends on the protocol and configuration. Cable selection can be confusing because SCSI
has a variety of protocols and configurations and differential and single-ended SCSI devices look identical.\par 

} 
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